Name: 3-Digit by 1-Digit Multiplication

—( The Invisible Man Goes to the Doctor}—

Find the products. Then, solve the riddle by
matching the letters to the blank lines below.

O] 134 ©] 223 1] 413 G] 976
x 5 x 6 x 8 x 9

S] 908 232 R] 144 (E] 622
X 2 x 5 X 7 X 8

Preview

Please log in to download
the printable version of this worksheet.
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X 4 x_ 7 X__ 2 X b X 2 X 3

What did the doctor say to the invisible man?

1,816 1,338 1,008 1,776 987 2,792
1,800 6,804 512 1,160 1,600 501 4,976 256 3,060 1,092
3,500 3,304 8,784 749 1,148 1,701 670 0
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A N SW E R K EY 3-Digit by 1-Digit Multiplication

—( The Invisible Man Goes to the Doctor}—

Find the products. Then, solve the riddle by
matching the letters to the blank lines below.

O] 134 ©] 223 1] 413 G] 976
x 5 x 6 x 8 X 9
670 1,338 3,304 8,784

S] 908 232 R] 144 (E] 622
X 2 x 5 X 7 X 8
1,816 1160 1,008 4976

Preview

Flease log in to download
the printable version of this worksheet.
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X 4 X 7 X 2 X 6 X 2 X 3
1148 749 256 3,060 1,092 1,800

What did the doctor say to the invisible man?

S 0) R R Y I
1,816 1,338 1,008 1,776 987 2,792
C A N ' T S E E Y o U
1,800 6,804 512 1,160 1,600 501 4,976 256 3,060 1,092
R I G H T N O) W
3,500 3,304 8,784 749 1,148 1,701 670 0
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